A 294F ) i = X 15
T XATF 4« BREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
b FEEL1-2TH |2 40 | 1.1 |AnvEENE | —
ZRIT 22 RN E T ¥ 3 | 1.1 - - A -
LELEASN o i
1 EREiR B s Py o 2 R il KO i 3.4 5.5 —|  —
2 _EERLISh oM 30 | L1 s 4[: L 17 17
LN L I 30 | 1.1 [W0 3. 500 3. ol 2. 3l 2. 3
ZRETRA % S LI PN o 3 A 0 —ffi 3.5t 5.5 —|  —
_ERCEASN 0> itk 30 | Lo|h 5.9f 9.4 17H 17
RTINS I T 30 | 1.1 o
EFLLISN O HilE
1 FREEIRG R o B T —l 3.5 5.5 —| —
2 LECBUt o HbR 30 | L1|F 6.3F 11F 5.9F 5.9
L ET 3ENN IR 30 | L1 3. off 3. Tﬂ 2. 8fifi 2.8
Zi=ITAH B 0D A [ it 40 | 1.1 Jﬁltmf%[:tb‘f% =
LRELLA D s
1 RERBHE N 0 B Al X —hti 4. 2r@ 5.6 — -
2 _ERCEA Ot 30 | L1|% 6.4f 114 5.5 5.5
LR AT KR I 30 | 1.1 [WE 4. Ol 3. 90 2. 8l 2.8
ZEIRHT )G WL B A AR ARIR
1 BREEIREME P 0D B T i —d 3. Tl 44— —
2 LERLUt oM 30 | L1|H 4.9 6.6% 6.4+ 6.4
EFELA o> ik
1 BEEIR B P oD B M X I —t 3. ol 4.4 - —
2 LERLIS o s 30 | L1|f 4 4[: 5.9 6.4 6.4
ZRAT A 7 —rn— R 30 | 1.1 [ff 3.0 3.9 7.5 7.5
TEMUGER I LR, REREAER |30 | L1 3. BE 3.9 3.8 3.8
BRI
LR 0 iR 30 | 1.1 3. 50 3.8t 1. ORlE 1.0
2 B A e 30 | 1.1 [4d 3. 50 4. 400 2. 7[: 2.7




A 294F ) i = X °H
i CET A4 T EREE
R I B B B S B =y i TSt v
| THET IS Eein mﬁ Lf%SE 4&@2@%2? ’ |
RIS Eceiid 30 | 1.1 [0 3. 5[0 4. 480 2, Tl 2. 7
TERATTEA TG 7K o LI 40 L1E¢$§w@r -1 -
e i 40 | L3 |[EcEE R | —
EEREAA o ik
1 FREERBE N o B A Hh O —hl 3.8l 5.6  —| —
2 kLo 40 L2¢64E 12/ 5.5 5.5
R 15 P SR L Bl P D B R i X —f#t 4.0 5.2 — —
LFRLLA o> it
1 REEASRRLY 30 | L1|# 5.0 874 5.6 5.6
2 hRELSt o 30 | L1|% 5.0f 8.7% 5.6 5.6
LR E AR 5 SR B HIR PN oD i FH ML S —# 3.9%0 5.6 @ — —
ERELASN 0 HiU
1 EEHOFEERR KL ERRN 40 | L.1|F 5.0 8. 79 5.5% 5.5
2 EFELSt MR 40 | 1.1 |# 5.0F 8 7H 5.5 5.5
22 HT F i _E e (BL2 & o BE) 30 | L1 |[ALEELE - -
RFRLAA D Hitks
1 BFEREHIRN O R A KR —RL 3 90 3.9 — —
2 LRELstoR 30 L1¢4AE9J¢63¢63
22 o ] IR 30 | L1 3. 4l 4. 40 2. Tl 2.7
LT B S Pt A B IS PN D R P Mt DRk —il 3.9 3.9 —| —
EFCLAS o> iR 30 | L2|F 4.4F 9.5% 6.3% 6.3
BT Erer 30 | L1 4. Ofeli 4. 500 2. Tl 2.7
ZERAT )| R 30 | 1.1 [ 3. 500 3. o 2. 3l 2.3
AT 1 M. K K& HE B82S 30 | 1.2 4.0 3&%15E15
RELLASN D i 30 | 1.2k 4.0%0 3. 90 2. 8%k 2.8
L AN AT Esic 30 | 1.1 |#E 3. 50 4. 40 2. Tih 2.7
Z2 R T A L Eseio 30 L1%35’4Aﬁ2J%2J




204 53 s ® K 3E
T XATF 4« BREE
e R ks @ A o w4 [P PEEERTIBEITOGES
B RRETIOE EaT UL B w | olmsmens 2 S ] ]
RERLIA o Hitke 30 | 1.1 3. 5p 4. zT@ 2. T@q 2.7
HOoHE1~5TH |8 40 | L1 |77 T b v b
ZHRET ot AR BT PN o R O s TeE 11| | —
RS o i
1 EEHOTERRA BRI 40 L1 o 1 149 39 39
2 kLo 40 | LU ooofh 14 17b 17
N — AT HA EaaiH 30 | 1.0 W 2. 380 2. 650 2. 3k 2.3
— BT B 30 | 1.0[FL 2. 480 2. 7[;@ 1.9l 1.9
— S HT B ot S A B A P o J Y B X0 —Wl 2.t 2.7 — —
RERLAA 0D Hitg
1 EEHOGEAEEERR 30 | L1|F 5.5F 7.24 4.5+ 4.5
2 XE#HE -EEERDOORNES (30 | L1|F 5F 7.2F 4.5F 4.5
ol
3 FELS o 30 | L1 4. 5F 7.2 2,04 2.0
— S AT KA Ezer 30 | L1 2. 3%l 2. T 2. oﬁ 2.0
— ST /N i 30 | L1 |EEEEEREE | —
LIS O Hh 30 | 1.2 [ 2. 3% 3. Ot 5. gl 5. 8
— S HT B = SE TR B AR PN oD FR R i X —fl 3. 8 3.7 — —
LIS 0 s 30 | L2|H 4.5% 6.8% 7.3 7.3
— GBI NEAR Ecein 30 | 12| 3.6 6.8 7.3H 7.3
— RS ET A B S T B H IR PN oD 2 P K3 s gl 3.7 | —
LFRLLA o> it
1 EEHOTEAEEERG 30 | 1.0 | B ESE bR b AE EL R
2 _ERCEAF R 30 | L1|% 4.6 6.8 7.0 7.0
— S ETHTR E: 30 | L2 [0 2.8 3.7H 7.0 7.0
—ERT A £t 30 | 1.0 2. 4k 2. Tk 2. Ol 2. 0
— RS HT AT R 30 | 1.2 3200 3.7 7.0 7.0
—EIET i SR BLARIR PN oD 2 A i KA —Jid 2. 6l 2. 8 — —




204 53 s ® K 1H
T XATF 4« BREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
VN — 5T B FCRAS o Hir e
1 " 40 | 1.1 |AkrEEEE | —
2 LERLIA o i 40 | 11| 4.0 4. ol 4.6l 4.5
—ET R P S0 IR N oD Pt R — 2. e 3.7 | —
RS o i
1 FEMTGEAEEZRIDY 40 | 1. YT L AT b 2
2 —i5HEH 40 | 1. — —
3 —/tE, EAHE, HiH, E7A 40 | 1. e b M b
4 _EFLLAS o i 40 | L 8 7.0 7.0
— AT iz 40 L. T b VB b T
— i T R Esiid 30 | 1. T 158 1.5
— AT A S B b sk PN D R P L R 1 -1 -
ERELASN 0 HiU
1 FEHHEAREERL 40 | L 7 L Y EL Y
2 A 40 | 1 — —
3 LRELSt o 40 | L. il 9. 5l 9. 5
—ETHE R SR B N D J T M X I - -
LFELLS D i
1 EEHGEAEEZRR 30 1.1 | bk ¥R b ¥ b e b i
2 #L mEiG. L ) 30 | LL|h 4.6t 6.8F 7.0 7.0
3 kRSO HR 30 | L2 4.6F 55H 7.0 7.0
—EITAOY r 2K 40 | 1.1 | Lk R b e L T LR
— PR A5 B b gl Y oD JE FH e Xk —#t 5. 7 11 — —
LELEASR > iR
1 EEHOERRRALHEBR N 40 | 1o[f 9.1 14 39 39
2 LERLS o 40 | L1 oy 14 17 17
—HHREE [iicRlarec — | BEHR [T 2 2 b e b 2
AT LR (X I8




204 53 s ® K 5E
T XATF 4« BREE
S (TR wass @M m oW g [P ACEERTEECEA RS
| —E AT | ARSI 0 B RO o s Y P s e I
2 kRIS Hk 40 | L1 9.3 19 16 16
— B FH _L 3 kel — | BRAR (T T LY L T L
AT LR X
1 BESEREUMLIEL P o R F X I —H 6. TR 12 | —
2 LFELIA o i 40 | L1 g6 17t 18fh 15
—HHEY Fo S B PR oD F R L X Mt e i 11l | —
_EFRLASh o> it
1 REEEZBEERE 40 | L1|F 278 43F 37 37
2 BYRHh 40 1. 1 & b YEE b — —
3 hEEA o i 40 | Lo oo 17 12 12
— & g [iEREaR A — | R [ T Bl b T L
AT AR X
1 IR MR o B2 T i Ik —d oo 11— —
2 RSO MR 40 | L1|F 9.0 16%F 15 15
— & H -8 [iEkeplaEe — | BEAR [T LE Y L YT L T b
T LA X
1 BFEREHIRN O R A KR —ft 7.1l 11 — —
2 EERLA O 40 | L1|F 9.1 16 15P 15
— &y FHHT bR — | BEAR (T LT L M L Y b
AT L AR Rk
1 REEAEHERR R 40 | L1|f 27 42 37 37
2 _LELA o Mgk
(1) BRI MR o B A M K e i 11— —
(2) EFELASIHE 40 | 1.1|F 9.3[: 18+ 15F 15
HEHERT Ese 30 | L.2 (W 3.8%0 6. 2% 5. Ll 5. 1
9| B et SR LA P 0D o P B XK — i 5.3E 0 - -
EFRLIA 0> HitlE




A 294F ) i = X 6
T XATF 4« BREE
p| 7 TR aRe  E W % A e T Tk e | s [
% e = * ® = # ®
I| EERA 1 EE1635H0 40 | L1[F 21 1H 13 13
2 ERLIS 0K 40 | 1.1 (#6211 9.5 9.5
| REJIAEET M E T 40 1.1 |8 bl #EA He ¥ - -
RELIS O 40 | 1O 4680 8.0 13F 13
K LR AT [kl — | BEAR (T LT BT L T LY
AT AR K ek
1 R N o B A Hh I —fel 6.3t 9.4 | —
2 _EFLEISF MR
(1) BIEFAZEMERG, F85087 |40 | L1 254 37F 40F 40
SR
(2) &m<FHi 40 | 1.0 M 4. 3%0 8. o 12 12
(3) kUSRS 40 | L1|% 8. gf 14 134 13
R HLU/NEF Y EctiA 40 | 1.1 [ 4,256 7.5 134 13
R ELF mET EsiH 40 | L1 [Al 4. 4R 7.5 13 13
KEFEAET Kig, Mo, s, HETFoAR, EH, & |40 1.1 [ 4. 5E 8. Ol 7. 1 7.1
=, WL, FAAR, FERE
J= 3R B PN oD f Y DX —ti 5.5 8.8 —| —
RFRLAA D Hitks
1 %Efmﬁiﬁfiﬁﬁﬁfmx FEBIHTE (40 | L1 27 36 44h 44
2 LR oM 40 | L1|$ 9.3 4% 14fF 14
R L=EH] ESen 40 | 1.0 [ 4.8 7. 5t 7. ot 7. 0
RBHT IR 30 | 1.1 3.8l 4. AL 5. 9Em 5.9
INF S B b sk PN D R P L R 1 —f6fi 550 9.2f | —
EERLIA o HiE 40 | L1|F 6.3 9.3F 9.1 9.1
Ay A HEFEFET B S 1 IR PN oD 2 P B X35 —l .ol 11— —
LRELLA D s
1 [E#E16 3EH 40 | L1fd o2y 13 13 13
2 _ERCLMAE Ot 40 | L1 5.1 120 9.3 9.3
FT A BRHET fit SR BT PN o J A i (X35 A | I




204 53 s ® K 7H
T XATF 4« BREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
DY A HALRET LFELISY o> Hittel
1 [E#E16 35Fihn 40 | L1|F 24fF 137 13 13
2 LELISl o 40 | L1 58 12t 9.2 9.9
F S 4RET o S 41 LIS P oD f P L XU —# 5.1l 120 — —
RS o i
1 EiE1ls6 35mwn 40 | L1|F 20F 13F 134 13
2 T HEESH 40 1.1 & e i — —
3 kEICLAh o> sk 40 | L1 s b 13 12 12
A EHTHT i 40 R 0 B = i o o=
F F A R ET R S 1A B AR PN D JR X0 —#t 5 o 100 | —
RERLAA 0D Hitg
1 EHE16 35K 40 | L1|% 20F 124 134 13
2 bR O IR 40 | L1|F 5.0 13F 9.3F 9.3
Fr AR A ET =ty 40 | 1.1 [l 5. Off 7.8 4. 9l 4.9
Fr A RAGENT R S B 3 PN O R Y R —fl 5o 11— —
ERELAS 0 Hit 40 | LoO[F 5.0 12 12 12
i HFEE SFHY E=et 40 | 1.1 [l 5. Off 7. 8% 4. 9l 4.9
pan:iliy = SR BLHIT PN oD J= M XA —l 58 11— —
EFELIA O HiR
1 E#E16 3Fh0 40 | L.1|F 24 137 13 13
2 RELS O HUR 40 | L1|H 5.8 120 9.3 9.3
i kel — | BRAR (P IEET L T S T L Y
LA X 40 | L1 oo.gf 13 17 17
R e A Kk
1 BT _ DT B 3 sk 40 | 1.1 [firedEdTeE - —
2 ﬁ‘rﬁ%@h@lﬁﬂﬁi@z\ THHM |30 | LO|hedgihsE — -
3 HRATENE o> T
(1) REFRMAREERB 40 1. 0 |7 bk ¥ H 78 — —




1.

TRR294F 5y v R XK 8
i CET A4 T EREE
e R ks @ A o w4 [P PEEERTIBEITOGES
oy F RUHNET (2) EFELUOHIK 30% 1.1%Fﬁttzfgﬁn‘tti’§ - ’
4 EFELA O R
(1) REBEFRIMRG., BEETEW |40 | Lo [fik¥Emke | —
AEBERB
(2) WEBEERMMREW 40 | 1.1 [Mitk¥EdTERYE | —
(3) WEMEDOES3 + 45+ 651 |40 | L1 [fikngiey —| —
(ADEEH)
(4) EEELA A OHLE 30 | 1.1 [T — -
AT AR X g
1 REEIRBE I PN oD [
(1) e, Ae/m, A, B s Tl 6.7 | —
. KA, P kEL AR,
et
(2) LEREESofhk —fl 4. TiRlE 4.0 — —
2 LbRREA O
(1) REEFERMARSERIBY 40 | 1.1 - 83 - -
(2) WEBEERMBRIRV 30 | 1.1 —IH 83 - -
(3) LRSS DHE 30 | LO[F59F 52 —| —
JIHHT A X — | B |7 Sk HET H HET e HE b EE
AT LR K
1 RRREHR N O 2 Al b —l 4. 860 6.7 —| —
2 _ERCEA DR 40 | L1|% 7.4% 124 18+ 18
= ET AR ER g 30 | 1.2 W 3.8l 5. OfE 7.7 7.7
AT —f& [k kIAES:
1 [E#E2 35hR 40 | 1.1 [ff7 YT L YT b T
2 ERTENE T S sk 40 | L1 [T PR T ELHET L Y T
3 _EEELSh 40 | 1.1 [T YT b YT e T b v
T (LR X
1 EE2 35ihRy
(1) ESiRBMg AN 0 f i B I




SEAR29F 4y i = X I
T XATF 4« BREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
Dy AT —6 (2) EFELUOHIK 40 | L1 14— -
2 RS OHUR
(1) FEEERB MR o 5 Hh K I ol 4.8%0 4.9 —|  —
(2) EFEELASOHuE 40 | LOF 7.0/ 13% 13F 13
O ES UMY i Ik
1 [EE2 358 40 1. O (77 L YT bh YT L e L v
2 _RELLISh o HiE 40 L1ﬁmﬁgmﬁﬁw@ﬁm@
AT AR X g
1 EiE2 35BN 40 | 1LO|F 14 — — -
2 B kB 40 | 1.1 [HivEEEE | —
3 hEEA o i
(1) B3R E I o 2 H Hh Kk —h 4.8 6.00 | —
(2) FERLS DR 40 | Lo|F 6.9 100 13 13
= HT b X g 40 | 1.1 |7 Bk HERT B HE B HE B HE
T L X
1 REEHRBAI N O 2 A —ti 4.7 6,00  —|  —
2 _ERCEA Ot 40 | LO|P 7.0 12 13 13
=R e R Ece 30 | 1.1 [ 3.8 4. O 7.7 7.7
=BT A B pe et B 40 | 1.1 J%tti’ér;tti’j -1 -
R SR B P oD 2 P M X3 —l 4,80 5.0 —| —
ERRAA O H g 30 | L3 5.9 9.3% 13h 13
HOES =R R R BT P 0D B I —fo 3.8 6.3 - —
ERCEASS D 30 | L1|H 7.2 mﬁ?jﬁ?ﬁ
A= T8, E=ei7 10 1. 1 |77 bl #ET BT e v b Y
HOES i sk [k A
1 [EE2 35Bw 40 | L1 [ v bR e e EL
2 ERRES O HE 40 Llﬁ%@L%ﬁﬁ%@ﬁ%@
AT LR (X I8




A 294F ) i = X 105
i CET A4 T EREE
e R ks @ A o w4 [P PEEERTIBEITOGES
ARCE 1 BRI 0 DO, o e ateed 00T
2 ERLIS 0K 40 | 1o 7.2 13 13 13
SEESEERIEES A Kk
1 EE2 35RY 40 1. 1 | b ST b HET bb e b
2 _EERLISh oM
(1) A HER LD faflo ik 40 1. O |77 L #ET L ¥ e AT L v
(2) BBt 40 L1ﬁmﬁgmﬁﬁw@ﬁm@
AT AR X g
1 EiE2 35BN 40 | L1|d 14 — - —
2 kLA o
(1) BEERBHgR A o 2 Hi K I 4.8 6.00 | —
(2) kLS 40 | LO|F 7.2/ 13F 13F 13
{AISZATPE T2 AL P 40 | 1.1 |77 BT L e Y b T
T AR X g
1 BREERE M 0 B O —# 5. 280 6.0  — —
2 bRELSt o 40 | LoOF 7.2 10 13 13
Al =HT R H A X 40 1. 1 (7 E 2T b e b 2 b
AT LR K
1 RRREHR N O 2 Al b —%38F63 -1 -
2 _ERCEA DR 40 | L1|% 6.4 11 13 13
=T T2 AT L R
1 EEZ2 3 53R 40 1.0 T'ﬁbl:i@l"ﬁttﬁ?ﬁttﬁﬁittij
2 _kEREIA O HiE 40 1. 1 |77 bk HERT ¥t e b 7
AT (LA Xk
1 ERRER B PN o 2 R il s ot 508 600 —| —
2 LERLS o 40 | LoO|P 7.2% 107 13 13
IS HT R R Eoein 30 | L1 [R0 3.8f0 7380 7. Tl 7.7
=0T =A4T Fo S R LML ) 0 f D 3 XU —fif 3.886 5.0  — -




1.

S RR294F 4y = 1E
i CET A4 T : N ) S
R N N I oA EE] [ [k [ | 4 [
By F=HET =47 EEELIA o> iU 30% 1. 1%43 4.243 9. {3% 9. {7% 9f7 ’
IR RO 4
1~5TE |&k 40 | 1.0 |/ bbHEJE b HE Y L
B SFET [k (A% - | B& Hﬁtti'é’,;tﬂ%ﬁtti@ﬁittfé
A% Xk
1 REEEIRBEHIEN 0D 5 H b — 6680 10— -
2 kLo 40 | L1 g.gfh 14 16fh 16
FEF [EEcaRIAESET — | BRAR (v L M H ST b T b
T LA X ek
1 REEIRS kN o B2 A X I e o7.eM 13 | —
2 hEEA o i 40 | L1|% oo 159 144 14
&| ALiFTEEHEY % S T S Y D R L RO —f 7.2 11 — —
EELIA O 40 | L1|F ol 14 17P 17
<| BHG-EHET b X g
1 ERTTEtE ko> T35 g 40 | 1.1 | Eb HET B YE e M L EE
2 LRELU O R — | BEAR [T LE Y L YT L T b
TR R X g
1 BFEREHIRN O R A KR —p#l 6. 1l 9.8 — —
2 EERLA O 40 | 1.1|h 8.5 14 17 17
R S ET IR 40 | 1.1 (i BT T H Y B
EH S EE EhE 2 3 890 40 | L1|f 37 38F 39 39
EFELA o> ik
1 BB o B2 A X I —fl 5.7 8.8  —| —
2 LERLIS o s 40 | Lo g od 13th 17 17
RHEEET AL i
1 ABTHETE o> T35 A M 40 | L. 1 [T BT HRHET e YR e T
2 EFRLUh oMb — | B# Fﬁtt@\mt@ﬁm’émtfé
AT AR I




A 294F ) i = X 128
T XATF 4« _ HEBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
<| muimr | ROERREN O B I desames 0 C
2 _LEELA o M 40 | LO | 8.0 14 17 17
E AT A Kk
1 #BTTRFE o> T 3R F Hhisk 40 | 1.1 | e P YT e b v
2 RERLUh o sk — | BEAR (T LT BT L T LY
AT AR K ek
1 EiE23E5hn 50 | 11| 37H 408 39H 39
2 _EFLEISF MR
(1) BEEERE MM 0 2 H Kk |t 5.8l 9.5 | —
(2) WEE 40 | LoF g L7 1R 17
(3) LEIEIS O HIER 40 | L1|% s 1 149 39 39
SEE/NIET [iEREaR A — | R [ T Bl b T L
A LA Ik
1 IR MR o B2 T i Ik —d 6. 18 15— —
2 LEELUSh O iR 40 | L1[H 10 199 129 12
SEE L BT A b I — | B (T L YT b YT L T b
T LA X
1 BFEREHIRN O R A KR —pii 7.4 150 — —
2 LRELstoR
(1) FoEEAZAERRD 40 | 1.1[% 30 48+ 3P 38
(2) kLRt ok 40 | 1% 11ff 199 12 12
SREHT ERET kel — | BRAR (P IEET L T S T L Y
A AR Kk
1 FREEREHEG Y o 5 A XK —t o el 100 —| —
2 ELS o 40 | 1L1|f 13[: 13 19 12
i3 RERATE MR E=eh 30 | 1.1l 2.8l 4. 87l 1. 26t 1.2
ST R A et SR LA P 0D o P B XK —JHti 3. E 4.4 - -
REELIS O I 30 | L1 5.9 7.5 9.4% 9.4




A 294F ) i = X 138
T XATF 4« BREE
p| 7 TR aRe  E W % A e T Tk e | s [
% A = * ® = # ®
I ZRETEH Ecei 30 | 1.1 W 2. 60 5. O 1. 45 1.4
=T /N Eceiid 30 | 1.1 [ 2. SE 4. SEﬁ 1:[: 1.0
=ERAT bR L FIRALAR L T2 30 | 1.1 T s
RELIS O 30 | 110 3. 9%l 4. 4 2. 4t 2. 4
ZBRATH R B A EE RO
1 FREERBE N o B A Hh O —fh s ol 6.4 | —
2 kLo 30 | Lo|h s A 1op 7.7 7.7
_EFRLASh o> it
1 FHZ, AvA, $7E, RS (30 | L1 R 3.0 5. 90 L Ofl 1.0
KT IR
2 EEEEU o
(1) BRI o B2 H Hi ik — 3.0 5.9 — —
(2) ERFEECASDHUR 30 | L1|% 6 yf 6.8% 7.7H 7.7
=RAT £z 30 | 1.1 3. 10 5. 20 1. Ofli 1.0
=IRETZM EzeEn 30 | 1.1 [ 2. SE 4. 8 2. 4[: 2.4
ZRATTR EE S EE BRI
1 IR o 5 A Hl O —fh 3.0l 8.2 | —
2 kLSO 30 | Lol 5 gf 10 8.7 8.7
_ERCEASN 0> itk 30 | 1.1kl 3. 1% 6. 81 8.7H 8.7
T EK g7 30 | L1 W0 3200 4.3 104 10
SRETH E B TE R BIRA
1 RIS o B2 T K I — o3 ofl 6.4 | —
2 LECBUt o HbR 30 | 1.0 J%JJ:I:?%[:H:EEF 7.0 7.7
EHE, HE, ok, R =08
1 REIRE e o B2 T Ik —pdl 3. or@ 6.3 —| -
2 LRELIA o Mt 30 L1|F 6.4F 8.99 7.7#8 7.7
bFELAS O s 30 | L1 3.2 5.7 7.7 7.7
| =ERETARA ER T EHE Lo AR OED T

ik




ERR29HESY i 2R * 145
i CET A4 T EREE
e R ks @ A o w4 [P PEEERTIBEITOGES
| et | BRI © 1.1%1%1@%%1%5%1%%% T
2 EEMEALEILBND 40 Llﬁmﬁgmﬁmk&$%ﬁ
3 LELEIAA DI
(1) BEET, T, FHET 40 | 1.1 |E B HENE by A b
(2) By, whar 40 | 1.0 A LbHEE L T L
(3) LFEELsh o 40 1. 1 |V bb YEE] bh YT bb 8T L
_EFEEAS o HitkaR
1 FEHTERERG 40 | 1.1 % 6.4 8.9 8.7 8.7
2 EEHFERAL SRR
(1) B3RS o 2 A i i —ftl 4 1pt 7.8 | —
(2) EkEEES O HIER 40 | L.1[|# 6. 4[: 8.9 8. 7H 8.7
3 EEHEEBEKRLIVEMOSY— |40 | 11|F 6.4 8.9F 8.7 8.7
vu— R
4 LEELS o HbE
(1) FE3eiRmERm o 2 A H IR ol 41t 7.8 | —
(2) kLSO 40 | 1.0 (% 6.3 8.7 8.7 8.7
Z| {iakT ML — | R (i BT B b dE T b
AT AR DI
1 REEIRME N o B A Hi X I —l o7 R 12 | —
o PN BT 40 1.1 J%Jtl:i’é[:l:tf% — -
3 kLo R 40 | L1|F ol 15 17 17
AIEHT B S T B H IR PN oD 2 P K3 —l 6.8l 4.6 —| —
LFRLIS 0 s 30 | LO|F 6.8F 129 18F 18
&| ABIELET Eeei 30 | 1.1l 3. 7fsl 5. 580 5. 3 5. 3
L| BRAT [ifcaRlE — | B ﬂittﬁEthﬁﬁ?mﬁﬁﬁttﬁ
T LR K dek
1 RSERBUHEE PN 0 B T s — 7. 11| - —
2 _ERCLMAE Ot 40 | L2|% o b 147 161 16
FEHET [EE 1 6 5 =i




A 294F ) i = X 165
T XATF 4« BREE
e R ks @ A o w4 [P PEEERTIBEITOGES
L| AEHAT 1 REEHREHIE N 0 B A i DO * —Fé;’fm 35&‘@ 5{7 B i
2 _LEELA o M 30 | 11| 1gdr 2y 15 15
LELEASN o i
1 EREiR B s Py o 2 R il KO i 3.8 5.4 —| —
2 FEREAAh o Mgk 30 | L1|h 7. 14 7.9 7.9
=kl A I — | B ‘rﬁtl:i’é!‘rﬁthféﬁhti’éﬁtti’é
T LR Ik 40 | Loff o3h 7 12 12
dil1~3TH [ERCi — | R (TR b b T LT
AT LA X 40 | L[ 21 17 13F 13
4 ZH o BEET R S 1A B AR PN D JR X0 —ti 5o 3.9 —| —
LFRLLA o Hie 30 | L1 e gd 1yd 17 17
7o mERE3TH LRIk — | BEHR (T ELHERT P e P e P T
AT A% s 40 | LLU[F 20F 7F 3P 13
EA R/ R BT TR ER — | BE#L |7 AT LT e L
T L X
L /NN, SR, P 50 | Lo[f 19 16 13 13
2 _ERCEA Ot 40 | L1|% 18% 164 134 13
A B /R (ke |1 — | B (7L HET HL e P e EL T
T LR I
1 KE, dbHE, sk, Ll 50 | 1.0|% 20 18+ 13 13
2 kRERLASh o Mt 40 | L1 18 164 134 13
i 7 R T £ R LIS D 12 P M DI — 4.7 9.1 - —
FELLA D it
1 FEEHEHERE 40 | LL|F 27 37 44fp 44
2 ELS o 40 | L1 oo.gf 13F 13fh 13
E: 7 [ERca A — | BEAR (7 L YT BT L T LY
AT AR K ek
1 RN o B A O — | 7.0F@ 9.9 | -




A 294F ) i = X 165
i CET A4 T EREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
7=| A 2 kRS OHIK 40 | LOF 16 147 13F 13
&| Bers o2 4 M I PR 0D 2 P 3 DX —#t 5. 3% 9.8  —| —
LELEASN o i
1 EiE16 3500 40 | L2|f 2 17 13h 13
2 EECLIA oD 40 | L1|% 5.3 1 9. 1 9.1
ERE1~5TH |[& 40 | L1 /B LR b L e L
7g| Bl AT [eEeiR (s — | B Fﬁthzﬁl,;ttzéﬁbt@mti’é
AT AR X g
1 REEIRBE I PN oD [ — 7.oeE 13 — -
2 LSO K 40 | L2|d o lfE 164 17 17
AT FiE 16 58K 30 | L1 o4 124 124 12
LFRLIS 0 s 30 | 1.1 [l 3.8l 4. 4%l 6. 0%l 6.0
(| TR ET NA BT RIRR 40 1.1J§Jt|:¥%[:ttfj -1 -
R S TR IR PN oD 2 P B X B —l 6.0l 6.7 —| —
EFRLIA O it 40 | L1[R 7.UfF 12 18 18
| ANFTET o S B A PN D J —t 6o 11— —
RFRLAA D Hitks
1 EEHOGERZRRLERR D 40 | L0 |[d 8.8t 37 44h 44
2 EERLA O 40 | L.1|P 8.9 14 19 19
27 H EiE 1 6 3 5HW
1 BRI P 00 B A K —peE 7.o4pE 11— —
2 RERLS O 40 | L1|F 22 159 13 13
L T Bz 40 | L1 |AvEEkYy - —
LELEASR > iR
1 ERRER B PN o 2 R il s —t e 11l | —
2 LERLS o 40 | L1|% e 7f 13 12 12
i3 ML [ikczp (s — | BRAR (T LT b I b e e
AT L IR X 50 | 1| 9.5 13 17H 17




A 294F ) i = X 178
i CET A4 T EREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
i FLET R, 7 e R AR AR 2R Y 30 | L2 — — — —
ERLEASR D Hitl 30 | 1.1 [ 2.9 3. 65 1. 20 1.2
=y it SR L 3B P D i i DK —ffd 3. 250 3.8 — —
LIS o i 30 | L1|f 5.0 5. 8%t 2.5 2.5
ENILIPNI Ege 30 L1ﬂ3ﬁ%3ﬁL12@12
T L AT [ Ei& 16 5=k
1 SRR o R A —ft 4.l 84— —
2 _EFLEISF MR 30 | 2.4 JEJtti/%EttZEEP 5.8 5.8
LFRLLA o> it
1 R R sk PN 0D SR X Js —t 8. Tt 54— —
2 hEEA o i 30 | 1.2|% 5.2 5 7 6.5 6.5
HILUETEN mEBEH T — FEFEIL 30 | L1 — — — —
RKIY=—7145 30 | L1 - - - -
RERLAA D Hitke
1 BREERE M 0 B O —[ft 3. 7fE 4.1 — -
2 bRELSt o 30 | L2|F 5.2F 5. 48 2. 50 2.5
FILET | 7 A mRB T — FEFEI 30 | L1 — — — —
7V F g IR 30 | 1.1 -1 - A -
EiE 16 55R0
1 BREEIREME P 0D B T i —l 408 8.4 - —
2 LFELIA o e 30 | L2 EJLI:?%EJ:I:@EP 5.8 5.8
EFELA o> ik
1 BB o B2 A X I —l 3.7 4.2 —| =
2 LERLIS o s 30 | 12| 5. 9 5. 4t 6.0l 6.0
FILET)I H VR HH N A AR
1 ] RA®BR LD il 30 | L1|b 7.9 6.0 5.2 5.2
2 _EELISko M 30 | L1|P 6.3 6.0 5.9 5.9
Fo SR B PR oD o P L X —JHti 3. 4f@ 4.1 - -




A 294F ) i = X 185
i CET A4 T EREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
i HILET)IT R EFCLAS o> HiUE
1 FEHGEAEELZRD 30 | L1|h 7.9 6.0 5.2 5.2
2 LERLIA o i 30 | L1|P 5.0 6. 0t 2. 08l 2.0
SNl ple o S 41 LIS P oD f P L XU —# 3.3 3.8 — —
_EECLAS 0> itk 30 | L.1|% 5.0 6. 08 2. Ol 2.0
=TIy A Esin 30 | 1.1 [WE 2. 90 3.8l 1. 1[: 1.1
L BT 44 B RR ST — R 30 1.1 — — —
KER, HA, 2R, KHEET, KA, #A
1 REEIRBE G o B A il O —l 3.7l 5.5 —| —
2 LSO K 30 | L1 J%JJ:I:X’EEH:EEF 5.4 5.4
RERLAA 0D Hitg
1 EEHOGESA LS LR
(1) R R s N o> f2 1 o I —fll 4. 26t 5.3 —|  —
(2) kRIS IR 30 | L1|F 6. j:: 5. 5[ 5.5 5.5
2 LRELIA o Mt
(1) FRFERB MR D 2 H D i 3. T 5.4 —| —
(2) RSSO HR 30 | L1|F 5.0 7,580 2. 7 2.7
A HLET3R AT Eet 30 | 1.1 3.0 3. 60 1. 3% 1. 3
HLIETH 7 4 EiE 16 55R0
1 BREEIREME P 0D B T i —el 4200 8.4 - —
2 LFELIA o e 30 | L2 EJLI:?%EJ:I:@EP 5.8 5.8
I E I IR 30 | 1.1|# 6.4 5.3 5.2 5.2
FELLA D it
1 BEEEREHIE P o A K0 o 3. TRE 51 | —
2 LELIS o i, 30 | 12| 5. 9F 5.3F 6.9% 6.9
HIUET ZARA EHEY T A MESE, F—bLTF K |40 | 11 — - - -
EiE 1 6 55w 40 | 2.4 (A AERE e R R R

L RCLAS 0D Hirdeg




A 294F ) s ® K 195
i CET A4 T EREE
e R ks @ A o w4 [P PEEERTIBEITOGES
| = A L e, S, S, 59 w0 | i jEeE |
2 LbRREA O
(1) 3B o 2T Hi K —t 3.7 6.3~ —
(2) kB OHIR 40 | L.1|F 5. 2F 187 6.6/ 6.6
B AT A 2R R AT T T B 30 1.1 - — — —
VR HE AR AR T
1 RSEIRELMIR P 0D 5 i B —l 4,00 4.1 —| =
2 bR OHIR 30 | L2 6. j: 5.2/ 5.2 5.2
EFEELS o gk
1 BRI P 00 B A K —ti 3. 1M 3.8 —| —
2 _ELIS O HE, 30 | L1 s
LT Exiin 30 | 1.1 [ 3.
LT R RiEk 30 | 1.1 2.
HILET (= g3t 30 | L1} 3.
A LT IRE R A BRI
1 IR o 5 A Hl O —h 4ol 41 | —
2 REOLISh o HiE 30 | 11| 6.6F 6.0 5.2 5.9
RERLLA o> Hig
1 REERBE R o0 B A il O —l 3. 200 3.8 —| —
2 LS R 30 | L1|F 4 8[: 6. Offi 2. Bl 2. 5
HIUATHR R, ey 30 | L.1J# 2.9t 3. 6E@ 2. 6l 2. 6
H LT = 35 EiE 16 557
1 REEHRE M N o B A g — 4280 5.4 —|  —
2 _ERCEAF R 30 | L1 Jﬁtt%%[:tti‘%qﬂ 5.8% 5.8
LRELLA D s
1 RFEREMERN O 2 R it 3. T 5.4 —| —
2 EELiA oMk 30 | L2|f 5.2 9.4l 2. Tl 2.7
SNEINEER: MR SE R 40 | 19[4 7.9 6.04 5.2 5.2




A 294F ) i = X 208
T XATF 4« BREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
i AT 2 EFELISh o Hitkik
1 BEEREUIEL P o B A X —l 3. 40 3.8  —| —
2 _LELLIS oM 40 | 11| 5.0/ 6. ol 2.0l 2.9
L BT 7 o S 41 LIS P oD f P L XU W3 7T 3.8 — —
EERLIA o Hitkek 30 | L1|h 5.2 5.4 3.1 3.1
H AT L B RAA T T T HHH 30 1.1 — — — —
VLERER =B SRR
1 BEETREL g PN o B A M40 4.1 | —
2 LRELU o i 30 | L1|# 6.6F 524 5.24 5.2
EFLLISN O HilE
1 FREEIRG R o B T Wo3. L 3.9 | —
2 _EFLSh oM 30 | L1|F 5.0 5 26l 2.0% 2.0
FLET D ERRLAS |tk 30 | L1 [ 2.0l 3.6l 1.2l 1.2
HH [iREaR A% — | B ‘rﬁtm@Etﬂ% tti’é[ﬁtt“&
T L X
1 BOEZFTE S SR 50 | L1(h 26 43 31 31
2 hEELIA o Mg
(1) FEEIRBELMIR A O 2 H K —pl 7.0 18— —
(2) bR OHE 50 | L1|F 7.9F 147 13% 13
O A BRI itk Rk — | B |7 Eh HET H HET B ME b AR
AT L AR Rk
1 REEHREAIEL N 0 2 A DO —f lofE 57— —
2 ERCEA s 40 | L1|% 1yf 24 1g% 16
g — T I 30 | 1.1 3. 80 4. 3% 5. ol 5.9
SURFHF LET [k A — | B ﬁﬁthﬁEtt@r;ittﬁﬁtti’é
T (LR X
1 EiE1l655Hwn 40 | L1|% 1gF 21 184 18
2 BB BREASRAERIR 40 | L1 16F 21F 18H 18




1.

K295y =3 =R * 21E
T XATF 4« _ HEBEE
S (TR wass @M m oW g [P ACEERTEECEA RS
O A= FILET 3 _LFEEEA o HiEg ’ | ’ ’ ’ ’ ’
(1) BRR MR B X —F 7 opE 5.7 - —
(2) LS oHg 40 | 1L.1|F 10 124 17 17
ASEAL O BT il I — | B&#R [ bl BT b T b T b 0
[iRcaglor | dEe
1 FREERBE N o B A Hh O —fh 9.3l 5.7 | —
2 kLo 40 | LB 1fh 259 18fh 15
DR/ T [eEcR (A= — | R (TR b b T LT
T LA X ek
1 AL 30 | Lo |EmrEEEE - —
2 hEEA o i
(1) B3R E I o 2 H Hh Kk —t 9.8l 5.7 | —
(2) LEiSistoHisg 30 | L1|% 1o 139 284 28
UN=ZINEF NI % SR B HIER PN oD 2 T M X —|t 4. 8% 6.4  — -
EFRLIA O it 30 | L1 81 1 17 17
AJEEF OET A b I — | B (T L YT b YT L T b
AR Xk 40 | L1|F 9.7 13 18 18
A EEFATET [iRcRls: 1 — | AR (T LE AT b L L
T L (X S 40 | L1 10d 13 29 22
I JERE r LT R SR B P oD 2 P M X3 —l 10ME 5.7 —|  —
EELLLA o Hithey 40 | L1 1y 254 15 15
IE D LT
1+ 27T HS 30 | 1.2 |/ bhHEE b HE b b T
= AR AR ET A Kk = | B Fﬁtl:ﬁ’,:ﬁthﬁﬁ?klzﬁﬂ?ttfé
T LR Xk
1 RS o = A KO — 8. 2l 5.7 — —
2 LFELh o g 40 | L1 o7 25t 18fh 15
vNEEslIL AT b XIS — | B Fﬁthﬁrﬁﬂ:&ﬁtﬁ@ﬁthi’é




A 294F ) i = X 20 E
T XATF 4« BREE
e R ks @ A o w4 [P PEEERTIBEITOGES
O\ AJERFET AT LR ’ | ’ ’ ’ ’ ’
1 BEEREUIEL P o B A X — 1o 5.7 —| —
2 LERLIA o i 40 | L1 1l 24 16 16
UNE i [k (A% — | BEHR [T LT YT b T b B
[iRcaglor | dEe
1 FREERBE N o B A Hh O —hl 5ol 6.4 —| —
2 kLo 40 | L1 7.3E 12 1 17
5 B’ [ERcRIMES:T — | BRAR [T L b 2T e e b
AT LA X 40 | LO[F 200 16F 13 13
-~ FAHT TR R
1 ﬁﬁ%r@k@l%ﬂﬂiﬂz, TR | 40 | 1.1 |7 e BT b A b v
2 _EECLSo Mgk — | BEAR (TT LRI b L T L
AT (LA Xk
1 [EE1655H0 30 | L1|f 18 21 15F 15
2 AR 40 | L1 |(AkvEEREE | —
3 IHHEM 40 | L1 e s
4 ERRLU o His
(1) BEIRELHIEAN o 2 Hh —ho4.g0lio6. 7 | —
(2) LU 40 | L1|4 8.5 14% 16 16
x| HET [EEc (A% — | B (T LT B L T LT
T AR X g
1 REERE N o 2 A O —l 6. 80 6.7 —| —
2 REELS O Mg 40 | 1L.1[F 7.3r: 120 17 17
3= IHET [ifcaRlE — | BEHR (T PR HERT P HET S e v
T L X
1 RSERBUHEE PN 0 B T s —h 7.8 130 - —
2 _ERCLMAE Ot 50 | 1.1|% 9.9 15 15 15
R R fit SR BT PN o J A i (X35 R e




A 294F ) i = X 23E
ml:ﬂﬂr% EETH BREE
g O xR E A e & & e T e e T
7| EHRHET R EFCLAS o> HiUE mﬁ Lf¢4ﬁ$5ﬁm1gﬁ1g i |
EHET A Eceiid 30 | 1.2 [ 2.7 36@1&E13
E:UES) R IUNA Y 30 | L. |EerEEEE | —
RELIS O 30 | 11[Hh 2,600 3.7 1.8 1.8
EHITH A Y o SR LI PR oD f P B XU —|#t 3.4 -1 -
EELIA 0 i 30 | L3[4 4.0 4950 1980 1.9
3 ELRT RN Koo 30 | L1 [Rf 2. 20 3.8 1.3k 1.3
EHITLRE I 30 | 1.1 W 2. ﬁ 3. 7[@ 1. 4ifi 1.4
£ RN R R =i 30 | 1.1 | 2. TiE 3. TG 2. 4h 2. 4
AT H M ki 30 | L2 [§f 2. T 8. TRE 2. 4 2. 4
SE BT IR 30 | 1.1 2.2 3&@23&23
£ BT L st 30 | 1.1 2. TR 3. TG 2. 4l 2. 4
EHHT =I5 ik S B A P D f2 B XS —ft 2. efi .20 —| —
_ERLEASR D i 30 | 10| 4.0
EHIERE E: 30 | L1 2.2
EHETO RS e 30 | L1 2.1
ERH AL E=et 30 | 1.2 1.6
EAZHT B fAs., ¥4 w0 30 | 1.1 [ 1.9
LFELIS O HiH 30 | 1.1 1.6
FAHT LA £ 30 | L2 1.7
ERLEASS O 30 | 1.2 1.9
EAZHT)I & Ecei 30 | 1.1 1.7
EHITTEX [ 30 | L2 1.7
EFREAS 0 g 30 | L2t 1.7
AT T2 £ 30 | 1.1 [ 1.7
T AT =i 30 | L2[H 1.6
ERATITIR ESEY 30 | L[4 1.7
FAZATRBRAE B gk, KR, EAET, iEHk, RiB 30 | 1.1 [l 1. 4f




A 294F ) i = X 2UE
T XATF 4« BREE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® = # ®
A EAZHT KRR A EFCLAS o> HiUE 30 | 1.1 [ 1.3 1. SR 1. Ol 1.0
FEAHTFHER I 30 | 1.1 1.7E L. 7Eﬁ 1. Offdi 1.0
EREITNFR B 30 | L1 LT 2. O 1. Ol 1. 0
ES = 2 ESeEn 30 | 1.2 [f 1. 6HE 2. Ol 1. Ot 1.0
FAZAT NS0 Ege 30 | 1.3 W 15[ 2. 9% 2. Offli 2. Q)
GRE1 - 2 TH el 40 | L1 |EkEEEERE -
P 1A % Fo S B PR oD F R L X —en o7 11 | —
EFRLIA o Hitkek 40 | L1 o.gf 12 12 12
| FRET T 10 | 1.1 o
EELIA O Hi 30 | 1.1[h 3. 84 6. T@ 6. 84 6.9
B FRE1 - 2TH |2k 40 | 1.1 EJH:%%EH:ZE -1 -
H| o H S B b sk PN D R P L R 1 —ft 5. sraz u - -
EELIA O 40 | L1|F 6.3 129 9.5 9.5
EFEbst FERE RT3 o St 4 R = S A AT M XY T 1 1 1 R e

ERCLAS O ik — | R (T e T B A L YR LR TE




